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Oinclude/linux/limitshD OO0 0 0000000000000
[ O Posix.100 O PIPE_BUF O O 5120 0 O red hat 7.200 [ 4096
OO0 000000dodood *readtest.c *#include #include
#include main(){int pipe_fd[2].pid_t pid.char r_buf[100].char
w_buf[4].char* p_wbuf.int r_num.int
cmd.memset(r_buf,0,sizeof(r_buf)).memset(w_buf,0,sizeof(r_buf)).
p_wbuf=w_buf.if(pipe(pipe_fd)0){close(pipe_fd[0]).//readstrcpy(w
_buf,"111").if(write(pipe_fd[1],w_buf,4)!=-1)printf("parent write
over\n").close(pipe_fd[1]).//writeprintf("parent close fd[1]



over\n").sleep(10).} }11 OO OO OO OO O O * parent write over* parent
close fd[1] over* read num is 4 the data read from the pipe is 111[]
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